#FA 100mYH(76. 2cm/8. 5m)

#OH Kb 5L
FLEREAT - MH A

J OB NEEAERLER (JO) 14. 60 JOZIMEHE (%) 9H4H 11:55 ¥
SFLEk (GR) 14. 29 BA MEGER - 2K 2013 (5 34[71) 9H4H 13:15 ¥k B

T & 3fH2EH+2

146 (L:+1.8) 2%H. (L:+0. 8)

NEAL V=Y Fun = K4 i RLgk Avh GEE ALV fon - KA i ROgk A b EIE
1 3 2557 FA KRG EE 14. 11 Jo,GR  Q 1 4 2017 Bk =(3) TR 14.55 JO Q
2 6 402 EHEOH5(3)  HEE)IH 15. 47 Q 2 3 1208 Rk HET-(3) BB 15.03 Q
3 4 502 R I (3) A 15. 55 a 3 5 84 /INALRAHE(3)  BIIEA 16.01
4 5 2651 [ LB TP 15. 66 a 4 8 472 FfE HEGB)  BF 16. 42
5 8 1660 g FEFE(3)  IKEFH 15.90 5 2 697 O FHG)  Eyd 18. 49
6 2 1791 FHk *"9&(3) q | 17.30 6 1081 HH: %Iﬁ(s) SRR DNS
77 1837 WE)II HER (3) FHERH 17.51 7 241 Hil Z=(3) AT DNS

3%H (Bl:+1.6)

NEGE V= fun' = K4 e ROdk 2AVE I
1 3 77 HE Q) Kb 14.39 JO Q
2 5 2065 fREEKELREB) HTH 15. 65 Q
3 4 2516 VEHMH HEML(3) - 15.79
4 8 1113 &% KWGB) BEfak 16. 77
5 7 827 |um EEG) HMESP 17. 89

2 1603 & H#HB) Wi DNS
6 1075 I BHG)  eEHf DNS
W
(J&:+1. 6)

NESL V= Fun' = K4 Eilc] gk aAvh
1 4 2557 FA KRG EEp 14.07 JO,GR
2 3 777 WA RF6)  fdbd 14.27 JO,GR
3 6 2017 Ak = (3) TR 14.57 JO
4 5 1208 (g HkT-(3)  BERLH 14. 67
5 2 502 % % (3)  FAgn 15. 22
6 1 2651 [ LB 15. 43
708 402 EHhxS %(3) e )|t 15.71
8 7 2065 REEAKFEREB HTH 16.27

FLl JO:JOSMIZ#RRE GRAR

FL% DNS:R15



